
5690 5690.5 5691 5691.5 5692
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

35

35.5

36

36.5

37

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

2−

1.5−

1−

0.5−

0

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

3

3.5

4

4.5

5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

6184

6184.5

6185

6185.5

6186

6186.5

6187

6187.5

6188

ru
n

run:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6186}



5690 5690.5 5691 5691.5 5692
cyclenum

83.4−

83.2−

83−

82.8−

82.6−

82.4−

82.2−

82−

81.8−

81.6−

81.4−

81.2−

us
l_

1X
usl_1X:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

3

3.5

4

4.5

5

us
l_

4a
Y

usl_4aY:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

38.5

39

39.5

40

40.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

15.5

16

16.5

17

17.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

39−

38.5−

38−

37.5−

37−

us
l_

12
X

usl_12X:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

6184

6184.5

6185

6185.5

6186

6186.5

6187

6187.5

6188

ru
n

run:cyclenum {run == 6186}



5690 5690.5 5691 5691.5 5692
cyclenum

128−

127.5−

127−

126.5−

126−

us
r_

1X

usr_1X:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

5

5.5

6

6.5

7

us
r_

4a
Y

usr_4aY:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

207.5

208

208.5

209

209.5

us
r_

4e
X

usr_4eX:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

10

10.5

11

11.5

12

us
r_

4e
Y

usr_4eY:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

43−

42.5−

42−

41.5−

41−

us
r_

12
X

usr_12X:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

6184

6184.5

6185

6185.5

6186

6186.5

6187

6187.5

6188

ru
n

run:cyclenum {run == 6186}



5690 5690.5 5691 5691.5 5692
cyclenum

20484.5

20485

20485.5

20486

20486.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

3182.5

3183

3183.5

3184

3184.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

4563.5

4564

4564.5

4565

4565.5

us
l_

co
il4

usl_coil4:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

297−

296.5−

296−

295.5−

295−

us
l_

co
il6

usl_coil6:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

2621.6

2621.8

2622

2622.2

2622.4

2622.6

2622.8

2623

2623.2

2623.4

2623.6

2623.8

us
l_

co
il7

usl_coil7:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

6184

6184.5

6185

6185.5

6186

6186.5

6187

6187.5

6188

ru
n

run:cyclenum {run == 6186}



5690 5690.5 5691 5691.5 5692
cyclenum

17710.8−

17710.6−

17710.4−

17710.2−

17710−

17709.8−

17709.6−

17709.4−

17709.2−

17709−

17708.8−

17708.6−

us
r_

co
il1

usr_coil1:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

2661.5−

2661−

2660.5−

2660−

2659.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

4953.6

4953.8

4954

4954.2

4954.4

4954.6

4954.8

4955

4955.2

4955.4

4955.6

4955.8

us
r_

co
il4

usr_coil4:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

280.4−

280.2−

280−

279.8−

279.6−

279.4−

279.2−

279−

278.8−

278.6−

278.4−

278.2−

us
r_

co
il6

usr_coil6:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

35783.6

35783.8

35784

35784.2

35784.4

35784.6

35784.8

35785

35785.2

35785.4

35785.6

35785.8

us
r_

co
il7

usr_coil7:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

6184

6184.5

6185

6185.5

6186

6186.5

6187

6187.5

6188

ru
n

run:cyclenum {run == 6186}



5690 5690.5 5691 5691.5 5692
cyclenum

287−

286.5−

286−

285.5−

285−1X
_c

oi
l1

1X_coil1:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

21.4−

21.2−

21−

20.8−

20.6−

20.4−

20.2−

20−

19.8−

19.6−

19.4−

19.2−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

324

324.2

324.4

324.6

324.8

325

325.2

325.4

325.6

325.8

326

326.2

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

308.5−

308−

307.5−

307−

306.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

43−

42.5−

42−

41.5−

41−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

269.6

269.8

270

270.2

270.4

270.6

270.8

271

271.2

271.4

271.6

271.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6186}



5690 5690.5 5691 5691.5 5692
cyclenum

198.2

198.4

198.6

198.8

199

199.2

199.4

199.6

199.8

200

200.2

200.4

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

51.5

52

52.5

53

53.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

16.4−

16.2−

16−

15.8−

15.6−

15.4−

15.2−

15−

14.8−

14.6−

14.4−

14.2−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

206.6

206.8

207

207.2

207.4

207.6

207.8

208

208.2

208.4

208.6

208.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

2.5−

2−

1.5−

1−

0.5−

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

14.5−

14−

13.5−

13−

12.5−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6186}



5690 5690.5 5691 5691.5 5692
cyclenum

239.4−

239.2−

239−

238.8−

238.6−

238.4−

238.2−

238−

237.8−

237.6−

237.4−

237.2−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

82.5−

82−

81.5−

81−

80.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

6−

5.5−

5−

4.5−

4−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

5

5.5

6

6.5

7

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

500.4−

500.2−

500−

499.8−

499.6−

499.4−

499.2−

499−

498.8−

498.6−

498.4−

498.2−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6186}

5690 5690.5 5691 5691.5 5692
cyclenum

6184

6184.5

6185

6185.5

6186

6186.5

6187

6187.5

6188

ru
n

run:cyclenum {run == 6186}
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